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Worksheet @ gradients

1. Let f(z,y) be a function of two variables. Find the gradient of the
function F(z,y,2) =z — f(z,y).
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2. A hiker is walking up the trail on the mountain following the direction
of the steepest ascent. The hiker’s speed is 3km/hr. When the hiker is
at point A = (a,b,c) on the mountain, his compass is telling him that
he}\wa,lking_ directly Northwest; the slope of the trail is 30°.

S

(a) If the mountain is thought of the graph of the altitude function
z= f(z,y), find |V f| at the point (a,b).
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Worksheet 10: critical points
1. Find and classify all the critical points of the function

flz,y) =2° + 2% — .
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